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And the ruling is valid when he is tied up — 532 RN

OVERVIEW

The X723 rules that if one is 733 an 72y, he is also n1p all the 7°7v50n that (were
included in the sale and) are on the 72, on account of 7% 7. The X132 challenges
this ruling, for a 3% %1 is not 1P, even when it is 2w 72, The X3 replies:
'mpo2 ®XNa5Y. It would seem from our X913 that if the 72y is nIvI, that is sufficient
to render him a proper 1%, which can be 732. Our Mo0IN rejects this notion.
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And it is necessary to say that we are discussing a case where the 72V is also

asleep; otherwise even if he is tied up, the purchaser of the 72y cannot acquire the P9u%un that
are on the 72y through "%r 7°1p. Rather there are two requirements; a) that the 72v is tied up, and
b) that he is asleep.

modoIn explains the need for these two conditions:
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For nie> accomplishes that the 72y is not a ‘walking =93n’; and sleeping
accomplishes that this 72v who is considered to be a 7%, is guarded under the

master’s supervision.’
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As X217 states in P97 29D L,V NODR, concerning one who wrote a vx for his

wife and he gave it into the hand of [her] slave, the rule is, if the slave is —
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Asleep and she is guarding him, then it is a valid wa. However if the slave is
awake, it is not a valid wva, for it is a 937 which is not guarded under her

supervision; the 72y is guarding himself (without the woman).
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And the &773 there challenges this ruling, and asks, ‘(even) if the 72V is sleeping,

why is it a valid ws; for the 72y is a no%mm 92n?!” The x»3 there continues and refutes

the anticipated reply —
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' See previous 19n 71" Moo footnote # 6 (this would apply to n3%mn 131 as well). Alternately, a person does not
want to have his belongings in a place which is not \ny72 “nnwnH.

2 In order for a 731 to be 7P for its owner, it cannot be a nN3%7»7 %0 and the 9¥7 must be 2"7v2 nYT> nAnwa. An
72y when he is conscious (even if he is N193) is 72v;7 NYT% IMNWn but not 2";v2 Ny7°.

? The marginal gloss amends this to read '772y".
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‘and if you will reply that it is different from a n3%7n 2xn for the 72V is asleep
and cannot walk; this is not a valid reply for (the same) 829 ruled, ‘anything that
cannot be mp while it is moving, cannot be 7132 even if it is standing or

sitting’. Therefore this 72v cannot be considered as a 7%n, even if he is asleep, since he is

capable of ‘walking’. The X 13 there concludes that we must say -
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That the ruling, of nw713 772Y 7°2 1101, is in a case where the 72V is tied (as well
as asleep). It is evident from the X713 there, that even though the X713 established
the case of nw7» 772Y 7°2 101 when the 72v was tied up, nevertheless if the 72V

was awake it is not a valid wa.* This proves that in order for an 729 to be a 7%, we require
that he is (both) asleep and tied up.

mdoIN anticipates a possible refutation to this proof from 7°v°3 n2on:
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And one cannot explain that the answer 'nm922 Xno%7' means that no> is not
considered no%77% and it is not similar to 2@ 7.° By ms even x21 will agree that
it is not a No%mn 1N, since in his present status (while he is tied up) he cannot possibly walk (and
it cannot be compared to 2w MW where he is presently capable of walking). The answer of the
X3 of 'Mv32 ’NPM' will mean —
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That since m2> accomplishes that the 72y is not a n3%7m 7%¥1 (as just mentioned),
then sleeping also accomplishes that he is not a n3%» 931 and the v will be valid by 12
alone [without M»> (and by n©> alone without ]W’)].6 This is not in agreement with what n1501n
maintains that for an 72y to be a 7x¥n we require both w1 no>.

mMooIN rejects this "woh PRI
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For if this is so; that 839 (who said the rule of 21 va "7 Jw° 772V 7°2 1INI) is

discussing a case where the 72V is untied; and in such a situation he is distinguishing

between w° (where it is a ) and 7v°1 (where it is not a ©3), so -
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Why does X2 state that 211 is not a v because it is a InYTH XOW nRnwRT 30
(since the 72y is awake); it was not necessary to use that reason; X271 -

* The X3 initially stated: v 1’ 71371 ,03 1""77 121 1w° 772Y 722 N1 The X3 was not satisfied with the 3 1"77 Ww°
for the 72y is a N3 1xn, and we had to say that 12° is a v only when he is mo3. However by 3, there is no
question that it is never a v (even if he is md2), because he is a INYT? MNWP WRY 730, See thinking it over # 1.

5 mooin explains 'ma22 xn37m' to refer to the 7 of X2 (that it is required that the 72y be mMo31 12°); however the X
wI9% maintains that M»>2 XN is explaining when an 72y is not a N3%mn 1%7.

® We will also assume (according to the "w15% PXY') that N9 or T are considered 7ny7> nnw» and not a Na%n g,
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Should have derived that it is not a valid va by 71¥°1, since the 72y is a nobmn 37!

Since 27 did not use the reason of n3%7n 1%, this proves that his 1°7 is in a case of N9, 7 and in
a case of mo> he distinguishes between 1w where it is a valid v (if he was also n92) and My
(where it is not a valid v3 [even] if he was N192), since by (NM1931) M1 the 72V is considered a %0
NYTY KW nnnwnn.

mooIn supports his contention by citing others who agree with him:
= 0) PN YT N2 9INRP NINNY /992 XNITNY PINN P9 80‘1\9)177! V99 19

And >'"w similarly explains the X723 in 99177 P95 that 'n1922 Xn2®m' means that
in the case of N192 is when K21 ruled that 2 is a valid v, and in that same case as

T2 (which is by n93), X219 states that 91¥°1 is not a w3 (because he is not InYT? NWn).
$19°53 YW MOT M1 MaYN P09 1)

And similarly the m173 n2%:7 5va ruled that we require that the 72y be 3@ ns2
in order that the v will be valid.

SUMMARY
An 72¥ can be used for %1 1P provided he is Jw*1 N193; in order that he not be a
N3%an %N or a 2"7YA NYTY XYW NAnnwna X,

THINKING IT OVER
1. Why is an m»o> 72v considered to be nyT> Tmnwn 1WX;” seemingly he cannot
even move?!

2. Why by m93 is the 72v not considered a no%% %m, but is considered N7 ANWA 1R
2"7va nvTo; and by 7w the 7av is considered 2"7va nyT? nanwn, however he is
considered a n2%nn qxn?

3. According to n1901n that the 72¥ (who is the 7¥17) has to be Jw" N9, then what is
the meaning of 1oubun mp Tava pom;'® what type of a mpin is possible by an 72y
who is 7w moa?'!

7 See ®nm "7 MDOIN in X,XD PY°s where the question is phrased as follows; If (X7 is not discussing n92, then if)
the 72y is M1 it should not be a v3 even if he is 7nNY7> Mnwn (for instance if his hands are tied and she is holding
him), because he is a no%7n 2N, (since we are not discussing No3), W"»y. See also TR R"wnn and n'"na.

8 5"y there MD3 771 states: LA 177 X2 TnRP X172 7277 R0 RW; indicating that in addition to 127, we require also no3.

? See footnote # 4.

' A 7iptn to be 7P an 72y is if you forced him to serve you. This is seemingly impossible by 1w n3.

' See (193-7 mwi) 7"ax.
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